AB Series

Specifications

APEX DYNAMICS, INC.

----@ Y HE ALOI = <14/ <16mm (AB060-1EH 0t S2)

: Sﬁ@ﬂmm@gg .

APEX 2

Gearbox Performance o ¢ ~® LE AOIX <19/ <24mm
Model No. |'Stage’| Ratio |AB042|AB060 | |AB0O90| |AB115|AB142| AB180|AB220
3 20 55 - 130 - 208 342 588 1,140
4 19 50 - 140 - 290 542 1,050 1,700
5 22 60 - 160 - 330 650 1,200 2,000
1 6 20 55 - 150 - 310 600 1,100 1,900
7 19 50 - 140 - 300 550 1,100 1,800
8 17 45 - 120 - 260 500 1,000 1,600
. 9 14 40 - 100 - 230 450 900 1,500
10 14 40 - 100 - 230 450 900 1,500
Serles 15 20 55 55 130 130 208 342 588 1,140
20 19 50 50 140 140 290 542 1,050 1,700
Nominal Output Torque Ty, Nm 25 22 60 60 160 160 330 650 1,200 2,000
30 20 55 55 150 150 310 600 1,100 1,900
35 19 50 50 140 140 300 550 1,100 1,800
HIGH PRECISION PLANETARY GEARBOXES 77 45 45 20 10 280 S0 1000 1600
2 45 14 40 40 100 100 230 450 900 1,500
50 22 60 60 160 160 330 650 1,200 2,000
60 20 55 55 150 150 310 600 1,100 1,900
70 19 50 50 140 140 300 550 1,100 1,800
80 17 45 45 120 120 260 500 1,000 1,600
90 14 40 40 100 100 230 450 900 1,500
100 14 40 40 100 100 230 450 900 1,500
Max. Output Torque T, Nm 1,2 3~100 3 times of Nominal Output Torque
Nominal Input Speed n,, rpm 1,2 3~100 5,000 5,000 5,000 4,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed n,, rpm 1,2 3~100 10,000 10,000 10,000 8,000 8,000 8,000 6,000 6,000 4,000
Micro Backlash PO arcmin 1 3~10 = = = = =i =il = =i =il
2 15~100 - - - - - <3 <3 <3 <3
. 1 3~10 <3 <3 <3 <3 <3 <3 <3 <3 <3
Reduced Backlash P1 aremin. 5 45~100 <5 <5 <5 <5 <5 <5 <5 <5 <5
. 1 3~10 <5 <5 <5 <5 <5 <5 <5 <5 <5
Standard Backlash P2 aremit o qs~100 <7 <7 <7 <7 T T <7 <7 <7
Torsional Rigidity Nm/arcmin 1,2 3~100 3 7 7 14 14 25 50 145 225
Max. Radial Load F,,’ N 1,2 3~100 780 1,530 1,530 3,250 3,250 6,700 9,400 14,500 50,000
Max. Axial Load F,,,,’ N 1,2 3~100 350 630 630 1,300 1,300 3,000 4,000 6,200 35,000
Max. Axial Load F,,,’ N 1,2 3~100 390 765 765 1,625 1625 3,350 4,700 7,250 25,000
Service Life hr 1,2 3~100 20,000
i o 1 3~10 297%
Efficiency 1 e 2 15~100 294%

) 1 3~10 0.5 1.3 - 3.7 - 7.8 145 29 48
Weight kg 2 15100 08 15 1.9 41 53 9 175 33 60
Operating Temp’ °c 1,2 3~100 -10°C~+90°C
Lubrication 1,2 3~100 synthetic gear grease (NYOGEL 792D)

Degree of Gearbox Protection 1,2 3~100 IP65
Mounting Position 1,2 3~100 all directions
Noise Level (n,=3000rpm) dB 1,2 3~100 <56 <58 <58 <60 <60 <63 <65 =67 <70
Gearbox Inertia
Model No. |'Stage| Ratio |AB042|AB060|AB060A| AB0O90|AB090A|AB115|AB142|AB180|AB220
3 0.03 0.16 = 0.61 = 3.25 9.21 28.98 69.61
4 0.03 0.14 = 0.48 = 2.74 7.54 23.67 54.37
5 0.03 0.13 = 0.47 = 271 7.42 23.29 53.27
1 6 0.03 0.13 = 0.45 = 2.65 7.25 22.75 51.72
7 0.03 0.13 = 0.45 = 2.62 7.14 22.48 50.97
8 0.03 0.13 = 0.44 = 2.58 7.07 22.59 50.84
9 0.03 0.13 = 0.44 = 2.57 7.04 22.53 50.63
10 0.03  0.13 - 0.44 - 2.57 7.03 22.51 50.56
15 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 23.29
20 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 23.29
Mass Moments of Inertia J, kg - cm? 25 0.03 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.13 0.47 047 271 7.42 23.29
35 0.03 0.03 0.13 0.13 0.47 047 271 7.42 23.29
o 40 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 23.29
45 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 23.29
50 0.03 0.03 0.13 0.13 0.44 044 257 7.03 2251
60 0.03 0.03 0.13 0.13 0.44 044 257 7.03 2251
70 0.03 0.03 0.13 0.13 0.44 044 257 7.03 2251
80 0.03 0.03 0.13 0.13 0.44 044 257 7.03 2251
90 0.03 0.03 0.13 013 0.44 044 257 7.03 2251
100 0.03 003 0.13 0.13 0.44 044 257 7.03 2251
o I =l o ® 1.Ratio (i=N,/N,,). 2.J|=: 5% =210 £6t Z2lD 2= 100rpm 06t S XAV et +X= HES S UM Page 108 X
3. 2B HSEE A10-90E, 2H)| FHEE 0~40% * S1 service life 10,000 hrs (S1: AE£S& X AH)



AB / ABR Series

Characteristic Highlights

Solid uncaged needle roller bearingsg =&
A XMst 240 ZICHSt X242 LISHIHES HS
24, 13, HAs89 FE2 IHd

HeliTopo technologys =
JI0| CrowningS Salf J| =]
OIZ20I5H D10 EH =SS SUstAMAH EIEE SU

S AUl Plasma nitridingZ2 X2l ZHIE 2EBER

J10f AR BT E 30 HRCE SXIGHSA JIHEHI TS (----- IR

840HVIHXl =0 U024 & LHSZdS SAl0
Lot M2

SHAIZ
Zxc ga0let EXel= HE0l 30l HE

One piece planet carrier with extended bearing design
diOICIY ot= S22 U3 AlFID AIAES HEet
282 U3 Al

o= .

APEX 1

True Helical Gear Design
JI02t =801 AHJI0] OHYl
33%014 =0t EA=2E =2+
olS O] MaA WX

BH EHA| =2 I_I-XCH /\-|_ll:_

=05t =88 2HIts

backlash ( less than 1 arc-minutes and < 56dB ).

8§ NEW - Patented output
sealing systems design

EAE QUMD 2= 220
TICN ZE€ XIS ot DHE 2t
g2 E0 2 2138 YXED
+ZES 2045

(BE : 3700 Hv, X% : R, 0.2 ;1 m)

NS

NEW - Patented input sealing system design.

Yoo QM R 20|

TICN DEXClE R4S HES2Z 0tE D
LE S Aol 2223 E Lot
B2 U

(FE : 3700 Hv, =% : R, 0.2 1 m)

Nyogel 792D (Smart Grease)
MESIH LY+RE S Xt

Patented planet carrier design
SI101 HIHE S SR Al etol
AXNZ2ZA I 2SS

= o = oo
£E0 =2 JLEE 23,

i
Triple split collet with dynamic balanced set

collar clamping system 2 B2+ ZMel=
S22 MUGD) SSEEAMNS 2AFF| HHE ol-

Eet 100% o SHE HEZ
=2UESC0AME B8 282 28

ABREZ 2 AIOIE HIEIINE HEE Angle 722 Z0IE &I
(G 2 = =

= =
ot M ZHOU UHsE+ U= 1L dotRE

APEX 2



ABF \ée}}-ies

AB Series

H 1 ClF D= F == 1 — 2o - - A~ AL - -
Dimensions (15t 2=, 24| (Ratio) i=3~10) Dimensions (25t 2t=5, 2r=H| (Ratio) i=15~100)
C9
c9 L2 L8 cs8
oL L2 L8 c8 =
S L3 ‘ clo —] c10
V : — T,
7 1 e P e N |
& | ~ :
@ s
rt :@— 8 i _ S i ot
5| 0 3 Q |
— - 2|8 o i i il s AR F er
S T 8 Iy RS
> 3 )
o 1B v A[
\/\ ‘ & = . . T
oD2 9 L4 ‘ ce_[: L c4
G L7 ca |
1T ED 20H2 S YBA0X S
C9
B1, L6 L5 L2 - L8
o B1 L6 7’ — i - =
T =
T ) A —
A j =R s T —
D6 L9 [
D6 L9 ®D3j6 L10 {
@D3 Sl w | L
Shaft Option S1 Shaft Option S2 i Shaft Option S1 Shaft Option S2 x
[unit: mm] [unit: mm)]
Dimension | AB042 | AB060 AB115 | AB142 | AB180 | AB220
Dimension AB042 AB060 AB090 AB115 AB142 AB180 AB220 ‘ . , | 1 | , | p | .
D1 50 70 100 130 165 215 250 D1 o i Y £0 G0 S 20
D2 3.4 5.5 6.6 9 11 13 17
D2 3.4 5.5 6.6 9 11 13 17 —
D3 13 16 ) 32 40 55 75
D3 5 13 16 PD 32 40 55 75 St —
D4 g 35 50 80 110 130 160 180
D4 g 35 50 80 110 130 160 180 — %
D5 22 45 65 95 75 95 115
D5 ) 45 65 95 75 95 115 —
_ D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D6 M4 x 0.7P M5x0.8P  M8x1.25P M12x1.75P  M16 x 2P M20x2.5P  M20x2.5P —
— D7 56 80 116 152 185 240 292
D7 56 80 116 152 185 240 292 A A—
L1 42 60 90 115 142 180 220
L1 42 60 90 115 142 180 220 L E——
L2 26 37 48 65 97 105 138
L2 26 37 48 65 97 105 138 SR
L3 5.5 7 10 12 15 20 30
L3 5.5 7 10 12 15 20 30 —
L4 1 15 1.5 2 3 3 3
L4 1 15 15 2 3 3 3 S A—
L5 16 25 32 40 63 70 90
L5 16 25 32 40 63 70 90 —
L6 2 2 3 5 5 6 7
L6 2 2 B 5 5 6 7 S —
L7 4 6 8 10 12 15 20
L7 4 6 8 10 12 15 20 - —
L8 58.5 72 98 111.5 126.5 143.5 176 209.5 248
L8 31 61 78.5 102 119.5 154 163.5 S A—
L9 4.5 4.8 7.2 10 12 15 15
L9 4.5 4.8 7.2 10 12 15 15 —
L10 10 12.5 19 28 36 42 42
L10 10 12.5 19 28 36 42 42 _—
c1 46 46 70 70 100 100 130 165 215
c1’ 46 70 100 130 165 215 235 _
— c2° M4 x 0.7P M4 x 0.7P M5 x 0.8P M5 x 0.8P M6x1P M6x1P M8x1.25P M10x1.5P M12x1.75P
c2 M4 x 0.7P M5 x 0.8P M6 x 1P M8x1.25P  M10x1.5P M12x1.75P M12x1.75P S L S— ) ) ) , .
S N— c3° <11 <11/<12 2<14 /<16 9 <14/<15.875/<16 <19 /<24 5<19/<24 <32 <38 <48
c3® <11 <14 /<16 2219 /<24 <32 <38 <48 <55 —_—
. c4° 25 25 34 34 40 40 50 60 85
c4’ 25 34 40 50 60 85 116 —
. C5%s 30 30 50 50 80 80 110 130 180
C5’cs 30 50 80 110 130 180 200 — v968 |
. Cé’ 3.5 3.5 8 8 4 4 5 6 6
ce 35 8 4 > 6 6 6 c7’ 42 42 60 60 90 90 115 142 190
cr 42 60 90 15 142 190 220 ce’ 29.5 29.5 19 19 17 17 19.5 22.5 29
ce 29.5 19 7 19.5 225 29 63 co’ 114 13é 5 154 178.5 191.5 225.5 292 5 33.7 415
co’ 86.5 17 143.5 186.5 239 288 364.5 S L — : : : : :

- c10° 8.75 8.75 13.5 13.5 10.75 10.75 13 15 20.75
c10 8.75 13.5 10.75 13 15 20.75 53 — S . . o - . 20
B1 o 5 5 6 10 12 16 20 AL

H1 15 18 24.5 35 43 59 79.5
H1 15 18 24.5 35 43 59 79.5

1. AB 060 2 =4[ 1/5 2+ 11001 St&GH C3 =16mm<S optionalZ M= 2. AB0900 Al C3 = 24mm<= optional 2 Xl
3.C1~C102 HEZE 0l (et CtSLICH €A £ H 01Xl www.apexdynakorea.co.kr2 & =064l % Design ToolS 0l

APEX 5

o}

1. AB 060 2/ =] 1/15~1/5001 St& ol C3 =12mmE optionalZ XS 2. AB 060A Special type 3. AB090 2 =5H| 1/15~1/500i &' & ol C3=15.875 & C3=16S optional 2 M=
=2 Al

4. AB090A Special type

5. AB 115 2 =] 1/15~1/1000{ CHdH C3 = 24mm<E optional 2 XS, & H=2X X 21(S1 condition) Ol A= AtS &
6.C1~C102 HEZ2E 0l [tet CHELICH A SHI0I X www.apexdynakorea.co.kr2 & #6t4l = Design ToolS 0/ &0t X+~ 2018 UASLICH

tEa Fo8 U
U

APEX 6



ABR Series

Specifications

Dimensions (1&t

ABR Series

2Fb== D=2
o/, o

= H| (Ratio) i=3~20)

Gearbox Performance

Model No. | Stage | Ratio |[ABR042|ABR060/ABR090(ABR115/ABR142(ABR180ABR220
3 9 36 90 195 342 588 1,140
4 12 48 120 260 520 1,040 1,680
5) 15 60 150 B25) 650 1,200 2,000
6 18 55 150 310 600 1,100 1,900
7 19 50 140 300 550 1,100 1,800
1 8 17 45 120 260 500 1,000 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
14 = 42 140 300 550 1,100 1,800
20 = 40 100 230 450 900 1,500
15 14 = = = - - -
20 14 = = - - - -
25 15 60 150 325 650 1,200 2,000
30 20 55 150 310 600 1,100 1,900
Nominal Output Torque T,y Nm 35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
45 14 40 100 230 450 900 1,500
50 14 60 100 230 650 1,200 2,000
60 20 55 150 310 600 1,100 1,900
2 70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
120 - - 150 310 600 1,100 1,900
140 - - 140 300 550 1,100 1,800
160 - - 120 260 550 1,000 1,600
180 - - 100 230 450 900 1,500
200 - - 100 230 450 900 1,500
Max. Output Torque T, Nm 1,2 3~200 3 times of Nominal Output Torque
Nominal Input Speed n,, rpm 1,2 3~200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed n,, rpm 1,2 3~200 10,000 10,000 8,000 8,000 6,000 6,000 4,000
Micro Backlash PO arcmin ; 22:580 : : zi 2421 zi 2421 zi
. 1 3~20 <4 <4 <4 <4 <4 <4 <4
Reduced Backlash P1 arcmin 5 25~200 <7 <7 <7 <7 <7 <7 <7
. 1 3~20 <6 <6 <6 <6 <6 <6 <6
Standard Backlash P2 arcmin 5 25~200 <9 <9 <9 <9 <9 = <9
Torsional Rigidity Nm/arcmin =~ 1,2 3~200 3 7 14 25 50 145 225
Max. Radial Load F,, N 1,2 3~200 780 1,530 3,250 6,700 9,400 14,500 50,000
Max. Axial Load F,,,, N 1,2 3~200 350 630 1,300 3,000 4,000 6,200 35,000
Max. Axial Load F,,, N 1,2 3~200 390 765 1,625 3,350 4,700 7,250 25,000
Service Life hr 1,2 3~200 20,000 *
- o 1 3~20 295%
Ffficiency X 2 25~200 292%
Weight K 1 3~20 0.9 2.1 6.4 13 24.5 51 83
g
2 25~200 1.2 1.5 7.8 14.2 27.5 54 95
Operating Temp® °C 1,2 3~200 -10°C~+90°C
Lubrication 1,2 3~200 synthetic gear grease (NYOGEL 792D)
Degree of Gearbox Protection 1,2 3~200 IP65
Mounting Position 1,2 3~200 all directions
Noise Level (n,=3000rpm) dB 1,2 3~200 <61 <63 <65 <68 <70 <72 <74

Gearbox Inertia

Ratio |[ABR042 ABR060/ABR090|ABR115|ABR142|ABR180|ABR220

0.35 2.25 6.84 23.4 68.9 135.4
0.07 1.87 6.25 21.8 65.6 119.8
0.07 1.87 6.25 21.8 65.6 119.8

Model No. | stage

3~10 0.09

1 14 -

20 -
Mass Moments of Inertia J, kg - cm’ 15 0.09
2 20 0.09
25~100 = 0.09

120~200 =

0.09 0.35 2.25 6.84 23.4 68.9
= 0.31 1.87 6.25 21.8 65.6

L8

1. Ratio (i=N,,/ N,,,).

= —10~905%, ZEI| FHEE 0~405

APEX 7

= EHSE S0l Fol Zel) EHH5S 100rpm Olot 2HE2AH0
X [

| Itet =Xls BHSE s A20 Page 31 X

* S1 service life 10,000 hrs (S1: HES& X AH)

Bkt L2 oc7
D2 y
o/ | r g{k\
N ©
SELN
|
|
I | |
Shaft Option S1 Shaft Option S2 |_2D3 s Li
[unit: mm]
Dimension ABR042 ABR060 ABR090 ABR115 ABR142 ABR180 ABR220
D1 50 70 100 130 165 215 250
D2 3.4 585 6.6 9 11 13 17
D3 s 13 16 22 32 40 55 75
D4 g 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 & 5 5 6 7
L7 4 6 8 10 12 15 20
L8 111.5 145 203 259 B8 394 484
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c1’ 46 70 100 130 165 215 235
c2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12x1.75P M12x1.75P
c3’ <11 <14 /<16 2<19/<24 <32 <38 <48 <55
c4’ 25 34 40 50 60 85 116
C5°cs 30 50 80 110 130 180 200
C6’ 3.5 8 4 5 6 6 6
c7’ 42 60 90 115 142 190 220
cs8’ 29.5 19 17 19.5 22.5 29 63
c9’ 90.5 111.5 152.5 191.5 235.5 303.5 378.5
c10’° 8.75 18.6 10.75 13 15 20.75 53
B1 ne 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5
1.ABR 060 C3=16mm= optional2 M= 2.ABR090 C3=24mmsS optional2 H S, &t HE2F X 24(S1 condition) M A= AIE4 F2I2 QY
3.C1~C102 HE2E{0 2+ CHELICH ZAF 2H 0l XI www.apexdynakorea.co.kr2 & Z6t4l S Design ToolS 0/ 25H0{ XI42 20184 USLICH

APEX 8



eries AT ZHZ Fo|OjY U AFHAE 5|23

Dimensions (2¢F 26=5, 2= UH| (Ratio) i=15~200)

L8

L2 L
) X | e—m—
A . <O FZr@ I
é é R e L S e The permitted radial and axial loads on output shaft of the gearbox
2 Faaz Faat depend on the design of the gearbox supporting bearings.
=l : <> A . — - . . ) :
_i: 1R 4—i APEX use the extension straddle oversized ball bearing design.
L4 L 5|8 r! | : - It can take heavy load from both axes.
L7 1L ‘
T ——
Ecs o|38 F,. Radial Load
2o | © F., Axial Load | S
B1 o 6 L5
T & 100,000
' FolHg 35 (F,)0l E3E
60,000 -
D6 Lo — 40000 SOl T X=1/2 x L
. . L10 z ’ o| EIL|C]
Shaft Option S1 Shaft Option S2 | 9P35 e ~— 1] AB220 | ABR220 ) B
2§ 20,000 5
L
n A
[unit: mm] T 10,000 EHZ ST ME
Dimension | ABR042 ABRO60 ABR090 ABR115 | ABR142 | ABR180 | ABR220 S< 6000 s  AB180/ABRI180 47| Zaz sig3o|c
D1 50 70 100 130 165 215 250 TS 4,000 T - AB142/ABR142 gm0 omczojN ool
T o = AB115 / ABR115
D2 3.4 5.5 6.6 9 11 13 17 8O 000 e o J Sp LD
D3 13 16 22 32 40 55 75 5 = : ________4/ T ﬁgg%%éABOQOA/
.
D4 g 35 50 80 110 130 160 180 2E 100 =y ABOGO | ABOGOA
D5 22 45 65 95 75 95 115 = | T ABRO060
= I
D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16x2P  M20x2.5P M20x2.5P 2§ TTT—, AB042/ABRO042
— 300
_br 56 80 116 152 185 240 292 10 20 40 60 100 200 400 600 1000 2000
L1 42 60 90 115 142 180 220 Output Speed n, [ rpm ]
L2 26 37 48 65 97 105 138 ’
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 3
L5 16 25 32 40 63 70 90 s ol otE(F,)0| EHE
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20 il AB042 | ABR042 il e B
— ] 1.3 BOIEIY dtF2 HE| H|F5}o
L8 139 163.5 206.5 285 365 431 521 2 1.2 A\ ﬁgg%%(l)ABOSOA/ YA}
_ ks | o _
L9 45 4.8 7.2 10 12 15 15 = 11 ‘k\‘ ABOSO| ABOSOA | oot e
L10 10 12.5 19 28 36 42 42 5 AN\ ABR090 S8AHCIHE °1Fn ARA
— ] 8 1.0 NN AB115/ ABR115  gixo ol e
c1' 46 46 70 100 130 165 215 w 0.9 \\\\\ \\\ B2 AR /%4
c2' M4x0.7P  M4x0.7P M5 x 0.8P M6x1P  M8x1.25P M10x1.5P M12x1.75P T os \‘\\&)(‘ AB142/ABR142 - waga aLUn
c3' <11 Ys11/512  P<14/<15875/<16 ) <19/<24 <32 <38 <48 S . _ ‘\\‘\\x ad AB180/ABR180 QA4 AZTHON Zoigia
c4' 25 25 34 40 50 60 85 15 06 W % ‘Q\\ AB220 / ABR220 Q&LIC}
C5'cs 30 30 50 80 110 130 180 '.é 05 \4§>z>z> g ?\4\ 1\ Ot H3lo| QA|T} ZHZL Hou
I~
¢ 35 3.5 8 4 5 6 6 o o4 NS 39 A A mep
4 ‘ T~ ~— T P .
c7 42 42 60 90 115 142 190 0.3 ——
cs’ 29.5 29.5 19 17 19.5 225 29 0 40 80 120 160 200 240 280 320 360 400
co' 90.5 99.5 126.5 165 205 254.5 323.5 Position X [ mm ]
c10° 8.75 8.75 13.5 10.75 13 15 20.75
B1 e 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 59 79.5 A Datas 2 TAIMMOAIN OfYf LHAOI LMYENZOIH LEZTHO| NS HY U&7 FHFO
1. ABR 060 C3 =12mm< optionalZ2 Xl= 2. ABR090 C3 =15.875 & C3 = 16= optional £ Xl = IL:EF% %-—Hlﬂi ﬂ%0| %ﬂ%-g'?' '/Fxlé E-’t%% %ngtt OIE’I'(I):I_?_ %'E‘ﬂ ﬂﬁ%% EI%OI‘Al-Il H[E'Lll:l‘

3.ABR 115 C3 =24mm= optionalZ M2, ¢t H=2 & E21(81 condition) MK = AHE4 =08 @2
4.C1~C102 HE2H 0l et CHELICH A £HI0I Xl www.apexdynakorea.co.kr2 & %6141 = Design Tool2 0| E0t0{ XI5 20184 USLICH

APEX 9 APEX 10



A
Selection of the Optimum Gearbox

Ordering Code

Motion Profile

Toaloo—— .
m Tzc_ ----- l—'--_l_--_---l
mr 2 1 !
Kin P i |
RN Tl I
ASSO S1 1 1 1 1 1
s 20 ! % 2n e et Lo :
Cycle Operation Continuous Operation Ko "zra’ "2aa  Euiaiutaiiet Sl et 1
YES ED<60% NO mr © Fore>Faac—+---- ;-
W:E 201m|ns E"E F2rp‘anp ; ; | .
(Eq-1) F2rd‘F2ad : : X :
1 1 1 1
UaH 2% i (Eq.2) UH W i (Eq.2) J u ! ! ! !
qr 1 /
l l Kir N
B2 23 E3 YN B2 38 £3 Yo a i
T2m (Eq'3) T2m (Eq's) |
|
Ao pE E3 WM J Time
Typmax (EQ-4
e S1 : aserel Nz
| - MM Cycles ZSAIMO| 60% Ol
- BBAIlO] 20 Ha xuig

O 2 uan NO Tomax<T2s T <T NO H 2 &47]
G W v i L+t
1.ED = —5——%x 100%, t yor = ta * to * 1

cycle

|
YES Index : a. Acceleration, c. Constant,
BEEHEC(n,,) & FHEE()E UM ) YES d. Deceleration, p. Pause (Eq.1)
(Eq.5) n
L~ m
l 2. = nwork
NO Nm  Output Speed of the Motor
dSH BE = MmNy Tos® Ton® Ny 2 2 2L AISTOIAl 0 ,
\/ 28" lan INT T = NS == Nyork Working Speed (Eq.2)
|
YES AT =3 n2axtaxT2a3+n2cxtch2c3+n2dxtde2d3
BRHOIHANF(F,,,) & BBENB(Fyr) 2 oam Naa*tatNoXtotnygxty
A (Eq.6) (Eq.3)
| 4. Tomae =TrmpX 1 X ko X 7
38 FOIHAF (Fyp) & B HNF(Fpp)2 [ where Kj is
Ab = iy =
it H DEARSEOIA = K, No. of Cycles / hr
|
v ‘ 1.0 0 ~ 1,000
11 1,000 ~ 1,500
oo O o o2 wan ey |
W 1.3 1,500 ~ 2,000
, 1.6 2,000 ~ 3,000
YES
v 1.8 3,000 ~ 5,000
mAN} Koy §F 2l J
l T,.s Max. Output Torque of the Motor
RIZSTITES J ” Efficiency of the Gearbox  (Eq.4)
5.N,, =N,y =—a4—Xn
2a 2d 2 2c
n. = _N2a* ta+ Ny X te+nyg X ty
Recommended (for S5 Cycle Operation) 2m n trt o +ty
The general design is given for Non = ﬁ (Eq.5)
e <axy,
I n2axtaxF2ra3"'nzcxtcxF2r<:3+ndetdxF2rd3
The optimal design is given for 6. Fyr= Ny Xt Ny Xt +n,, %ty
sy,
I 3 3 3
n2axtaxF2aa +n20xtch2ac +n2dxtdxF2ad
J,_ Load Inertia I:Zam n2axt3+n2cxtc+n2dxtd (Eq.6)

J.. Motor Inertia

APEX 11

1
1
1
1
1
1
1
F-——-
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
Fe——— —
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
|
|
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
L
1
1
1
1
1
1
|

Shaft Option:

Gearbox Size: 0 ]
S1: Smooth Output Shaft i i i Manufacturer Type i

Motor Designation:
| AB042, AB060, AB090 |

AB115, AB142, AB180, AB220 S2: Output Shaft with Key And Model

Backlash:
PO: Micro Backlash
P1: Reduced Backlash
P2: Standard Backlash

Ordering Example: AB090-010-S1-P1 / SIEMENS 1FT6 041-4AF71

1 Stage: 3,4,5,6,7,8,9, 10
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70,
80, 90, 100

ABR Series

m - G “/

- Gearbox Size || Shaft Option: Motor Designation:

3 ABRO042, ABR060, ABR090 3 i i S1: Smooth Output Shaft l i i Manufacturer Type i

. ABR115,ABR142, ABR180, e S2: Output Shaft with Key | | | And Model }

' ABR220 B e 3
Ratio Backlash

* *
1 Stage: 3,4,5,6,7,8,9, 10, 14, 20
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70,
* %

*kk kk k*k K%

80, 90, 100, 120, 140, 160, 180, 200

PO: Micro Backlash
P1: Reduced Backlash
P2: Standard Backlash

* ABRO420IM =28 2£22 15,208 2
** ABR042,ABR0600I = & E 0ot &

Ordering Example: ABR090-010-S1-P1 / SIEMENS 1FT6 041-4AF71
m ZHOAIE YIS HT NS FABL AEHD

= !

APEX 12



	쪽 1
	AB9-10.pdf
	쪽 1

	AB7-8.pdf
	쪽 1

	AB5-6.pdf
	쪽 1

	AB3-4.pdf
	쪽 1

	AB11-12.pdf
	쪽 1


